Solving Harder Quadratic Equations

Solve these quadratic equations. i’
(8) 2x2+11x+5=0 felpce: 3,057
(b) 2x2+45x—3=0 (b)OCF‘S'DC':i
(© 3x2-7x+2=0 (e) =3 joC s &
(d) 2x*+x-15=0 (a) x=-3 ,c=2
(e) 2x*-3x~ 5=0 (e <=8 o= -1
() 2% +5x48=0 (f) == —;5_ )gc:—1

Solve these quadratic equations.
(a) x> =5x=iD
(b) x2+7x=0

() 2x%+14x=0 ol
d) 2x2-7x=0 (o\BDC=0)3C'?_

| Solve these quadratic equations. (O\) ~=9 = -5
(@) x*-25=0

(b) x*2-144=0
(&) W22 —32 =10

| (d) 5x2-45=0 (@) x=3 ,oe=-3
Solve these quadratic equations. (Q‘) = Q) ) DE= —-4
(a) xs =24t 2% (b\) oc=10, =3
(b) 30+x?=13x -}, = R
() 2x* =3=—X (C’> £k ) +
(d) 7x?+13x =10-20x (@) oc= = [§25= 5
(e) 15+2x=2x%+3x (&) B - -3

(f) x?+5x+56=20x




